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ANSWERS

Cpen office space

Closed office space

Advantages
cost less

Advantoges

workers more productive
workers more inspired
quieter

Disadvantages

more distractions
no privacy

Disadvaniages
more expensive

less feamwork
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| ANSWERS

. 1 an open office spuce, because it allows more

people fo fit
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2 because it's quieter, and there are fewer distractions
3 there might be fewer new ideas, sales, or results
4 because everyone works in the same space

regardless of their level

private information

5 a closed office space, because others will not hear
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AMSWERS
1 old

3 Babylon
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urban sprawl

D R

sprawl
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to urban sprawl
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? all around the world
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4 doubled

5 decreases
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Early 1900s = urban sprawl began in the U.S.
1918 = immigratfion resulted in greater urban growth
1940s and 1950s = government policies confributed
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Ancient timas = Babylon and China saw considerable

Nearly three thousand years ago = early Roman
population started to spread outward
17h and 18" centuries = London experienced urban

1970s = urban sprawl became a social phenemenon
that impacted living and working spaces
Present day = inner city populations are at all-ime fows
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Synonym

Antonym

urban

metropolifan

rural

similor fo

like

different to

considerable

significant

insignificant

modern

current

ancient

realistic

prachice

idealistic

e, en S W o R R T R P L e W-j

¥

i

]

A G T e A T P B 3

8 VS D DS K D) metlain® e 0 SN A RS L IVELM T 1 LA LT LT PR T N A B T ma m S st s 28

3 BT DA e e Rl Ui e non d s T A

R P T

e

N M B R B

A e o R B R i

ok

{
i
:
i}.



AN5WER5

1 ancient 4 redlistic
- 2 different to 5 considerable
~ 3 urban ¢
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ANSWERS

1 Angela prefers having her own cubicle, doesn't
she?

2 My boss has his own office, doesn’t he?

3 You live in the suburbs and work in the city, don't
you?

4 Mikhail doesnt want to leave the city, does he?
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4 5 ‘r'cur bmiher is workmg at & new company, isn t he2

ANSWERS

1 isn'tiie A aren’t we?
¢ 2 don't they? 5 aren't they?®
© 3 isn'tite 6 hasn‘i ife
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. ANSWERS
? I falls 2 rises 3 rises i!- Falls
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. ANSWERS
- 1 That reminds me. E !|u5f ihaughtof 5Dmet|1|ng ;
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- taking notes, and his mind wanders. He reviews his
- notes after the meefing and sometimes calls a group
- member for clarification, but someiimes they can'i

. POSSIBLE ANSWER

Milad takes notes, but he doesn’t ask for clarification
during the mesting when he doesn’t understand, and
he pretends he understands. He sometimes stops

. remember what was said, so it is unhelpful.
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